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Math 115
Fall 2017
Lecture 26

Selve USin“jiro - ?v\c'\‘or PV'OPVl“a "
c((37<-‘l)(3>< x1)(2x +5) (2x-5)=0

1§ AR =0, then A=0 or B=0
3x-1=0 3x+1=0 2x+s=0  2%5=0
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Solve oy Morrnj method: E&é S,MF.%J
> - vse 2.F-P.
D X" —36=0 2) X «%x +16=0
(x €6)(X=6)=0 (x +4)(x+4) =0
X4L=0  x-6=0 s?_i% xX+4=0 sL—L‘
" Z=-6) x=6) | A=Y v%fm\'ea\ Soln.

3 2% —5x —3=0 -
Ex+V)(x -3)=0
zx-kizO “Xx-3=0
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Selve \0\3 Quodvadc Tovmula
IXE 45X =& Ox™+ox + (=0

x> +5x -2=0 0=3, b=5, C=-2

B2 -ac =(s)-1(3)(2) =19
~b xJEme | =5 3J N9
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Consider (2x —3)(5)(-23 Y

@ ;O\\ g\vv\P\\““ﬁ,wr\'\'Q in QX xbXx £C=0
6x% -4x~3x +6-4=0

6x2-13x +2=0
@ Sivd b, and C,Hhen ComPu'\e b&-4ac
(tf-g b —4ac- (“35- -t (2)(6) =121
C=2 X = \3-\-\\
C) Lse &—Q‘O\rmu\a\ o Sele. / :.

VR TYOT 21120 - 3% %= \?’-“ |
x= a\l\ * g e, © 2
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The \\390‘\'%\)8& oF oL right Triangle iS5 O &
The \295  Qre two Cons. inTesRrs.
Sind  bath \Q‘as- By P\g‘\’haﬁon«ﬂ Thvw

o+ b= <
S ¥+ Y3 2 2
x|% C X '\'(X-H) =5
b 2 25
x 1 X% (Y'\'\)(’X-\-i)

X%k XE4X «X«1 =25 XF+ x —\2=0
2x* x2x +1 -25=0 (x+%)(x-3)=0

&
2x* 42x —24=0 E
X~ XX @}4

Reduce
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Yind o\ e.xc\uc\m)\ Nolues )—¢ Deng =0
Se\ve
x xX-5
© X1 © % +)
\ 2x3=0
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\, -—
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@ W
X* - 3x 436
X—\3% £36=0
(x-4 (x-S }:O .
A
x=4 x=9
Sim?\{\‘-a‘,

) 3x b 2xTax-3 | B0xxd) | (S (o]
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C )24 )z _ ‘ 3 (Xx+L
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>
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RAAW\& ’ Subimcti 1\3 \i‘(& Eﬁﬁ*QOV\/S
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SM\P\{Q‘A P
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2% -5 2% —5
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Wow Yo add/Subivac) ratomal expressions
when devovninators ove difGevent

Basie  Math:
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Sim W 3 _ <
P X +Y x -1

LEb = (x +4)(x-1)

B ) 2 (xw)
T () () (1) (x +

BO-1) —2 (%) | 3x-3-x-R
(% +4)(x -1) (x0T
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L= (k2O _ X +4) -2 (x+2)
x +2D(x+)
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Stmphify 3 5 33 52
4 6 4Y-3 6-2
L\=2'aD o \0 _ 0
6 =2 []3 = _\_?:- R \2
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2 ) ¢ ) LG :OH'B)O(-’S)
KRDWAR =(x ) (% +4) (m)l
_20xa) 2 (x-3)
(x2)=) 1) (B O) ()
Disheiloute & Simpli v~ N\

.30y —2(8) R
() (x3)x ) (Ced) (y-x)(nqi

10



October 12, 2017

Sim?“?‘a‘, < _ C
X -5x+L %X -2

-8x+6 = (=3 )(x =)
X -3 = X3

K :S\_JM-EL
Cx =) (x=2) Cx-2) (1:-‘2)
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X-Iak =S ‘A:o , Selve Sov X.
\(_'&_y\)\' = \_C\ 'X:O, Se\uj S‘O\/ \a

Consvder B: ')8" — 5% =36
Noind (0,2)  Y=0-5O)-3k=-36
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